NEWCC@
SPARE PARTS CATALOG

NK-TVT TEA SERIES
FRESH BREWED TEA BREWERS



NK-TVT TEA SERIES
Fresh Brewed Tea System Dual Dilution/4 Button

22-Jan-13 NEWCO ENTERPRISES 1.800.325.7867
www.newcocoffee.com



NK-TVT TEA SERIES
Fresh Brewed Tea System Dual Dilution/4 Button

TABLE OF CONTENT

Base Assembly Pages 4
Cover Assembly Page 5
Valve Assembly Pages 6 & 7
Tank Assembly Pages 7 -9
Miscellaneous Components Pages 9 - 14
22-Jan-13 NEWCO ENTERPRISES 1.800.325.7867

www.newcocoffee.com



NK-TVT TEA SERIES
Fresh Brewed Tea System Dual Dilution/4 Button

ITEM # IMAGE DESCRIPTION UM

Base Assembly

705487 H- Base & Tray Assembly, NK-TVT 24 5/8” 1 EA.

100078 Q l Bumper Foot With Screw 1 EA.

105048 Screw With Washer, 8-32 x 3/8”” PPHMS 1 EA.

LY

701634 = Face Plate Base, Single Dispenser 1 EA.

701681 h d Top, Base GXF-T 24 5/8” 1 EA.

701683 E Bottom, Base GXF-T 24 5/8 1 EA.

705437 ‘ l Tray Assembly, Spot Welded Slim Dispenser 1 EA.

22-Jan-13 NEWCO ENTERPRISES 1.800.325.7867 4
www.newcocoffee.com



NK-TVT TEA SERIES
Fresh Brewed Tea System Dual Dilution/4 Button

ITEM # IMAGE DESCRIPTION UM

Cover Assembly

705229 .. Cover Assembly, NK PI 1 EA.

CAUTION: HOT SURFACES

100254 CAUTION: HOT SURFACES Decal, Warning (Hot Surface) 1 EA.

110625 Cover & Grid Assembly, Plastic Black Pour In 1 EA.

110623 Grid Only, Plastic Black Pour In 1 EA.

110624 - Cover Only, Plastic Black Pour In 1 EA.

705748 .n NK Cover Blank, PI 1 EA.

22-Jan-13 NEWCO ENTERPRISES 1.800.325.7867 5
www.newcocoffee.com



NK-TVT TEA SERIES
Fresh Brewed Tea System Dual Dilution/4 Button

ITEM # IMAGE DESCRIPTION UM

\Valve Assembly

705479 i | Valve Assembly, NKT Dual Dilution 1 EA.

i
I~
£
sagl A4S
100154 E j? = 1 Male Connector, 1/4” F x 1/8” 1 EA.
o &
W
e A
100155 ] ] &3 1 Male Connector, 174" C x 1/8” NPT 1 EA.
ikl
» =2
=y
100161 -;:E‘-.—— &) Swivel Nut Assembly, 1/4" x .030” x .88” 1 EA.
e B o= " ”
100177 -y "E‘; Male Elbow, 1/4" F x 1/8” NPT . EA

Solenoid Valve, Kip

100255 1 EA.
103474 .._‘; — F} PDS Valve Assembly, High Flow Flare/Plug/Stem 1 EA.
m R
202017 EY) - Street Elbow, 1/8” NPT x 1/8” NPT 1 EA.
L
22-Jan-13 NEWCO ENTERPRISES 1.800.325.7867 6

www.newcocoffee.com



NK-TVT TEA SERIES
Fresh Brewed Tea System Dual Dilution/4 Button

ITEM # IMAGE DESCRIPTION UM

Valve Assembly - Continued

767105 =/ Street Tee, 1/8” NPT x 1/8” NPT x 1/8” NPT 1 EA.
e &
P _
800043 - - Nipple, 1/8” x 1/8” NPT x 1 1/2" 1 EA.
Tank Assembly
705481 Tank Assembly, NK-TVT 1750W Dual Dilution 1 EA.
100061 @ @ 8-32 Nut, Hex SS 1 EA.

704119 i Tank Only, K 1 EA.

704221 Gasket, Tank Silicone 1 EA.

705480 0 Tank Lid Assembly, NK-TVT 1750W Dual Dilution 1 EA.

100025 Spray Head Gasket 1 EA.
22-Jan-13 NEWCO ENTERPRISES 1.800.325.7867 7

www.newcocoffee.com



NK-TVT TEA SERIES
Fresh Brewed Tea System Dual Dilution/4 Button

ITEM # IMAGE DESCRIPTION UM

Tank Assembly - Continued

100190 ( 4 € } 1/2 -20 Jam Nut, Brass 1 EA.
100269 - !} Hi-Limit Thermostat Bracket 1 EA.
100409 { ) Gasket, Brass .520 ID 1 EA.
111592 » JL; _ Manual Thermostat Straight Tabs, 221F 1 EA.
151677 O Temperature Probe, Dual Thermistor 7.312” 1 EA.
152198 e Lead Wire, 14GA Violet-Black 4” Teflon 1S-1S 1 EA.
e SEN—
202025-10 :Q Heating Element Only, 1750W 120V 1 EA.
B
700069 T — Spray Head Tube Assembly, K 1 EA.
22-Jan-13 NEWCO ENTERPRISES 1.800.325.7867 8

www.newcocoffee.com



NK-TVT TEA SERIES
Fresh Brewed Tea System Dual Dilution/4 Button

ITEM # IMAGE DESCRIPTION UM

Tank Assembly - Continued

705214 o Tank Lid Only, NK Pour Over 1 EA.
781555 Gasket, Silicone Delivery-Siphon 1 EA.
Miscellaneous Components

100003 w Bushing, Snap 3/4" Plastic 1 EA.
100022 Power Cord, 14/3 120V 15 Amp 1 EA.
100054 Y X < #8 Lock Washer, External Tooth SS 1 EA.
100065 3 k'f Screw, 6-32 x 5/16”” PPHMS 1 EA

i - [Used On The Control Board] ’

100163 Terminal Block, 120V 1 EA.

100176 3 Male Connector, 1/4" F x 1/4" F 1 EA.

22-Jan-13 NEWCO ENTERPRISES 1.800.325.7867 9
www.newcocoffee.com



Fresh Brewed Tea System Dual Dilution/4 Button

NK-TVT TEA SERIES

ITEM #

IMAGE

DESCRIPTION

Miscellaneous Components - Continued

UM

101035 E’u Grommet, Strain Relief 14/3 EA.
8§
e 22
105048 }! Screw With Washer, 8-32 x 3/8” PPHMS EA.
110626 Switch, Rocker Rectangular DP/ST EA.
o Mestor 151 x S g5
111223 Spray Head, Siphon RD C/H EA.
111684 Triac, 40A 600V EA.
) S, o 032 X e T
22-Jan-13 NEWCO ENTERPRISES 1.800.325.7867 10

www.newcocoffee.com




NK-TVT TEA SERIES
Fresh Brewed Tea System Dual Dilution/4 Button

ITEM # IMAGE DESCRIPTION UM

Miscellaneous Components - Continued

121659 Heat Sink, 4/6” x 2.4” x 1.5” 1 EA.
152164 o o Washer, .218 ID x .562 OD SS 1 EA.
201173 Spray Head Nut, 7/16-20" SS 1 EA.
400801 Label Kit, TVT BBOX 4B NEWCO 1 EA.
511005 Power Cord Plate, 120 V 15 Amp 1 EA.
™,
&)
511023 0 Brass Nut, 7/16-20” x 11/16” Hex 1 EA.
£y
511027 23 'j{ '") Screw, 8-32 x 3/8” SPHMS SS 1 EA.
T f’r;}}z
511046 j\l S Washer, 7/16” Internal Tooth SS 1 EA.
22-Jan-13 NEWCO ENTERPRISES 1.800.325.7867 11

www.newcocoffee.com



NK-TVT TEA SERIES
Fresh Brewed Tea System Dual Dilution/4 Button

ITEM # IMAGE DESCRIPTION UM

Miscellaneous Components - Continued

511087 i Screw, 8-32 x 1/2" SPHMS SS 1 EA.

700015 O o Washer, 1” OD x 3/4" ID SS 1 EA.

700016 Silicone Gasket, 1.062”” OD x .672” ID 1 EA.

700060 Receiving Pan, Auto 1 EA.
PR

701200 S = Nut, Hex Slotted 3/4-16” 1 EA.

701319 o — LH Brew Rail 1 EA.

701676 o — RH Brew Rail 1 EA.

705186 & | Frame, NK Branding Cover 1 EA.

22-Jan-13 NEWCO ENTERPRISES 1.800.325.7867 12
www.newcocoffee.com



NK-TVT TEA SERIES
Fresh Brewed Tea System Dual Dilution/4 Button

ITEM # IMAGE DESCRIPTION UM

Miscellaneous Components - Continued

705225 Cover, Brand K/NK Without Faucet 1 EA.
705228 Bushing, Snap 1 1/8” 1 EA.
705473 Control Board, TVT 4 Button 1 EA.
800801 Brew Basket, Dual Dilution Trimmed 1 EA.
701346 Tube Assembly, 1/4  x .028” x 1.875 SS 1 EA.

705012 Tube Assembly, External Dilution SS

705485 Tube Assembly, NK-TVT DD 3.19” 1 EA.

705484 ( = Tube Assembly, Inlet NK-TVT DD 8 1 EA.
£ &

22-Jan-13 NEWCO ENTERPRISES 1.800.325.7867 13
www.newcocoffee.com



NK-TVT TEA SERIES
Fresh Brewed Tea System Dual Dilution/4 Button

ITEM # IMAGE DESCRIPTION UM

Miscellaneous Components - Continued

705486 : | Tube Assembly, NK-TVT DD 3.5” 1 EA.
705886 m Tube Assembly, Copper 1/4" x 3.75” 1 EA.
w©
100284 Plastic Tie Wrap, 5 3/4" 1 EA.
22-Jan-13 NEWCO ENTERPRISES 1.800.325.7867 14

www.newcocoffee.com



22-Jan-13

NK-TVT TEA SERIES
Fresh Brewed Tea System Dual Dilution/4 Button

NEWCO ENTERPRISES 1.800.325.7867
www.newcocoffee.com

15



22-Jan-13

NK-TVT TEA SERIES
Fresh Brewed Tea System Dual Dilution/4 Button

NEWCO ENTERPRISES 1.800.325.7867
www.newcocoffee.com

16



